EARAZROREIERT — 2 N—XBISY —F 2015598188 (£) 10@EKXH5H

b S22 84AL200AKS ‘ [xz] & ‘ [eErsm]  — | 4 (&) 14000 RE
[xE<£] 1% :1,700,000 § ~ 2 3%&:595,000 @ ~ 337 :340,000 @ ~ 4 3&:255,000 @ ~ 5 7 :170,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R I .08, A . — ZIRERHE (/\EK)
i slEa-%7% o2 ) 1(2_8)6 4-4-3  [39.2 1 <4+781) o /N
Ly —3yFr B:pHIea-—% pailzcbie]
Sy B _ i 2 | HEDIHA 1:28.6 222 [39.4| — 3 466 | EER (KH)
o 2| PSR 54.0 (7€) Gy |Bm—a
R:TIv T84 K BEY/ IS &% =k
o N SEER : -5 — IWEE (1
3 3| VIAILAHCR i 2 oy 1.(37o>.o 7-5-5 | 40.5 7 ;1_224) L
R:xIAMO— B:ERUSIH HE BE
SEPEITR f 2 | EHEEX 1:30.0 5-7-7 | 40.3| — 4 501 | MLAEfR (KFH)
4l7l10| BT H U= 54.0 (P47 Ly |EAES
R:F1—T2h4 B:HLE2—FIIT HE KR
N HARER :30. -1- . — FEE T (VK
sl1l1lEvaL-x it 2 o 1(310)2 1=1-1 | 411 5 <4+818) s /I
L2 LINSG Ry 7R BNIVES R FIYH BNIRARIS
RS 4 2 | PHEFRE 1:30.2 3-3-4 |41.0| — 9 446 | ERER (KH#H)
Eﬂ 47> EXR2— 54.0 (74%) iy | HERWA
R:YZ28—-3IZ28— BILRTyTAT fEHE &
sy N IRH RS : 5 - #ZILESE (KH)
717l 7o=v %2y o2 S 1.(310>.4 6-5-6 | 40.9 2 (zgz) PuEe
X+ TTLRT70—7 B:hrbRU—y—7> 1A HE
NEPIRN LB : -11— — B (KH)
gl5l7|v—Zx7FU>=Z o2 o 1.(320).8 9-11-11 | 40.2 6 ;1;;34) Asny
R:HISFULL BHISACTIN—T LIS
= g o2 | BEFR 1:30.8 11-12-12 [ 39.9| — 10 506 | REMA (KFH)
9|56 77K 54.0 75%) () | BT
R:Gr—3I)F7> BE-E-YTFZ sl 1#
S i 2 | AEE 1:30.9 8-8-8 |41.1| — 1 469 | FEBLZ (KFH)
10f@l13| 7V L/ VIS R5— 54.0 (7E) o | AEEH
R:ZANAF2—) B:I9T /I RH FEO4%5
s S 4 2 | HTHER 1:31.0 10-9-9 |41.2] — 8 431 | AfRABE (KH)
1Yo | Freraft 54.0 (7€) (o) | PiEEER
LNAT—=F—L B:ovyI2Ya PR
> 1) # 2 | EERR 1:32.1 11-10-10 [41.9| — 12 452 | SFEFABR (KH)
12|8[12) #2371~ 5.0 ®) w3 | W) 7ESFT e xy-
X:A—-xI>7Y> B:YLT—-KREY21— L &R
o " bk ] — - - — — — HiEEE (KFH)
»Hl | 7T hAEU VY "2 s (B3H) (=) wru
R:7RY4¥aIV—-> B:T—-ILRLF— I
® I—F—@EBIERL
13—-7-
23—+ — 1,2,4,5,10,11,3,13,7,9, (6,12)
T =35r= 1,2,4,5,(3,11),10,13,9,12,7,6
43—+ — 1,2,5,4,3,11,10,13,9,12,7,6
[ RN
B 5 290M 794K 2-5 310M & 2-4 620M &R 2-3-5 3,160/
# B 5 140 & 810M B 4-2 1,280 EE 2= 10,590
2 150 2-3 1,060M B = 2-5 670M
3 220 B H 5-2 1,490

ABICOVWTRDTEEERROODE. TR LIV,




